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1 2 3 4 5 6 7
UNruue
2211111 |Twuwgppkp PLUZ npuid 108,6
15811110 |2Zwg dwwnlwpuy C2 g 340 705,5 2075
03211300 |Pphud (o4 g 350 79,9 228,3
15331154 |Uwljupnl (74 liq 320 73,1 228,3
15851100 |Zuglwdun]wp (04 g 650 148,4 228,3
15616000 |Nuw, wipnpewljwb CZ lg 700 159,8 228,3
15331153 |Uplwdwnlh dkp,pudhhiwgdws, qunud G2 1huip 630 143,8 228,3
Upquhjnip, yunnpuuwnh oginwgnpéiwh
15421100 |puwljwib hjnip (74 1hwp 400 332,0 830
Zunjp I.lUEl’Ulp uwnbgyws,
15112160 | mhnuiwb wipnnowljwl (e74 Lig 1250 446,9 373.5
15331154 |[jnn (¢4 lig 350 58,1 166
15313000 |Ywpuindhy (64 lig 200 41,5 207 .5
15894210 [Uj uliniun [o74 nnud 331,0
22451180 |Muwukpny wyynn iymphkp PRUL npud 150000 150,0 1
22851000 |Upwqulup PRUL huwwn 100 10,0 100
22851200 |Bonpwuyubuly PLUL hwwn 120 6,0 50
22811130 [Skwphkp PLOUL hwwn 50 10,0 200
22811140 |Skwphp PPUL hwwn 200 4,0 20
24911200 |Unuhbd(klniyuhw) PoUL hww 1300 13,0 10
30192121 |QunghYwynp gppshikp PLUL hwiwn 120 18,0 150
30192123 [dndwuwnbip PLUL hwwn 800 16,0 20
30192130 |Uwwnhwnbbkp PRUL hww 300 6,0 20
30192930 |Nknnhs gphstkp PLOUL huwn 250 50 20
30197631 |@nigp A4 dnpdwwnp PLUL wnnih 2500 50,0 20
30197234 |Pnpuwwwhwl Ynown juquny PLUL hwwn 1000 50 5
30199501 |Uwjwpwpninp PLUL hwwn 250 15,0 60
30192230 [duy PLOUL hww 20 6,0 300
37821160 |YunJh& PLUL lig 900 36,0 40
31521100 |Lundwybp POUL hwn 250 8,0 32
31211140 |Ej. Uywhnhstbp [2]a]074 hwwn 1400 2,8 2
33761100 |[@nip gniqupuith PLUL hwwn 120 50 200
24451160 |Uunnwhwhnn iympbp(pinpulhp) POUL g 1500 5.0 20




39221410 |why pRUL hwwn 1000 5,0 11
39224330 [Fmkp PLUL hwwn 1100 5,0 5
44521200 |[Ynnubplbp b dwubp PCUZ hwwn 1500 50 20
44511110 [Pwhkp i PLUZ hwwn 1000 6,0 6
33761700 | upphsubp POUL hwwn 1000 50 24
39831241 |odwn PCUZ hwwn 250 7,5 30
39831242 |LJwgph thnoh dknph PCU.Z huiwn 760 22,8 30
39831273 [Zwunwl dwppnn ymipkp PCUZ hwwn 1500 36,0 24
42131000 [Onpwllbp Juwd thwlwbbbp PCUZ hwwn 4500 225 5
- 44163170  |Mthwnhub janpnyjwly FCUZ Ubun 1000 10,0 10
44111200 |8tdkuwn FCUZ hwwn 2500 25,0 10
44111413  |Bniqubkply PCUZ lig 1100 11,0 10
44831500 |Lnidhs PCUZ hwun 1200 6,0 5
09134200 [thq Junkijhp pLUL 1hwip 400 12,0 30
39831283 |hwunwly dwppkynt onp PLUL huwn 1000 20,0 20
31661000 |EjEYwnpnn POUL hwwn 4000 8,0 2
441192610 |Utkju PLUL g 800 2,4 3
18424000 |[2knling PLUL hwwn 500 5,0 10
31686000 [lupng PLUL hwwn 500 50 10
31684000 [dwpnul pPLUL hwwn 500 5,0 10
Nhunulbwlul thundithnuowntkp PRUL huwn 15000 15,0 1
Ownuwnipnih
64211310 |Ep. Onunh swnuynipmh pCUZ npud 150000 150,0 1
65111100 |[Rlnilgni oph pupfund pLULZ npuid 100000 100,0 1
65210000 |9wgh pwohidwml Swnwnipntl PLUZ npuud 750000 750,0 1
65311100 |Ejkljnpntutpghwih pusjunud RCUZ npud 950000 950,0 1
thnutnwihb dwrwjnupnlbbp” Juwywd |pwgnpbinh
64111100 |L wwppbpwywl dwdnih hbwn PLUZ npwu 50000 50,0 1
66110000 |Pwlljuiht Ownuynipniiikp PLUZ npuu 10000 100,0 1
Zudwljunpghsuppht wrbyynn
72590000 | dwubwghunwlul swownipnibibp RCUZ npud 150000 150,0 1
90921300 |Unbbtwbbph nhd wuwpuph Swnwnipnibbbp FCUZ npud 60000 60,0 1
65200000 |quqh hwlwljwpgh vywuwplnud POU2 npu 100000 | 100,0 1
2hbwpwpniejwb pGpwgph YGpwhudwl
71521100 |Swrwjnientbltn PCUZ npuu 106600 106,6 1
45461100 Cklph b phtimpnmibiikph phpwghly
tunpngnud ne npud 4153400 | 41534 1
SRR00000 ookt il b s laub i sl 54075,4
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